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BE 54 F %W *a 3 11 12 2,200 3 6 0 9 27 55 0 82 65.7 82.8
A S S SR | Rt 12 2,200 2 6 0 8 20 51 0 11 50.7 80.7
451 # o Kk K F L H T 3 — R 10 10 2,000 3 7 0 10 15 51 0 66 65.2 66.0
BlFokksa—L - HkEFa-20 10 10 2.000 0 1 0 11 0 96 0 96 61.6 87.3
AIlFokk s o—L - k€23 — 20 10 10 2,000 3 5 0 8 28 43 0 il 64.6 88.8
8l 4 b Kk Kk 4 %k % 3 — R 11 10 2.700 1 8 0 9 9 69 0 78 62.8 78.8
MF 8 o Kk % 4 K %k 2 — = 1 10 2. 200 4 10 0 14 4 87 0 128 63.3 83.1
Wrr7z=2%% 4% (x0 10 50 2,000 2 29 16 47 19 204 16 259 61.5 78.4
Spp 7 =294 X () 10 50 2,000 3 44 23 70 2 325 23 374 55.9 74.1
52(# % < * * 6 L 0 15 46 0 61 15 16 0 61
Bt ¥y ¥ 7 va=7F =2 10 10 5. 000 6 2 0 8 56 18 0 74 10.8 92.5
54 ® 5 B 2 1 #L 500 53 66 0 119 53 66 0 119
% At 557 1,540 329 1,184 515 169 2,107 2,459 9211 515 169 12,354 53.0 80.9
BIEERMIENSMELR ( 11,832
At 623 1,645 326 1.273 250 165 2,014 2,618] 10,078 250 165 13,111 52.9 82.2
g At 256 688 9 958 0 36 1084 476 5227 0 36 5739 47.1 79.7
B At 690 1,635 298 1,433 333 185 2,249 2,606] 10,320 333 185) 13,444 53.3 78.9
H264F B R &t 2,126 5508 1,043 4,848 1,008 555 7,544 8,150 34,83 1,008 555| 44,648 51.6 80.4
ZmE (N)
L - = Y U L — L E% ENSMEH (N)
18 28 38 gt
1z & — + a - z| 12 55 50 42 147 147
2 |t 53 a - 2| o5 103 110 94 307 307
3l B B woBmokon oA 14 5 5 4 14 14
4 |3 y[a 2 =] = 2 0 0 0 0 0 0
o 387 163 165 140 0 468 468
AR SIER (A) 40
®OE K OE # OB = % #8 A& HEE  (BmE (N)| ERsmMEK (N
1| KHNEEAR 28128 EEES ). R 18 18
5 0
et 18 18
AIFERMRASMER (N) 0
BWE (X ERBMEH (A
fast
2683 12,840
AIFERMARASMER (N) 12,272




